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Simple Interest Worksheet : 7

1) a) The formula for simple interest is: I= pr{’
b) Rearrange this formula to find:
i) Time: il) The interest rate: iii} The Principal:

'é: 2 rrgx{o:;’ﬂ 'F: _—?:
e P 3¢ =

Answer each of the following...

2) If Michael invests $2000 in the bank at a rate of 5.5% for 6 years how much
interest will he make?

= e
3) Kelsey takes out a loan fi o 0 start a business after high school. The bank

charges her 8% interest for the loan. After 5 years how much interest will be added
ontotheloan? - = ¢ 5 me( 2.05 X5)
T = QYem

4) Jessie investsﬁgds in the stock market. Over the 3 years she has this invested
she gets an average return of 7.8%. How much will her investment be worth after the
Jyears? = S ¥7 (e 222)(7)
A="%1271%
Scott takes gets a student loan to go to college after high school. If he pays $750
in interest at a rate of 3%, how much must the loan have been for originally?

g T
6) Taylor has just won $4,250 from the 50/50 at the Sea Dog's game and decides to

invest all of it. If he makes $1275 with a 5% interest rate, how long must he have
had the money invested? A= 45

R e
7) At what rate would you r;é a0 invest $12000 and make $2880 after 8 years?
¢ = KRE80 (3> a/‘

358

8) What will the total value of an investment of $5000 be if it has an interest rate of

7% and is invested for 20 years? A = Shoo 4+ SBus (o s2)Ca=)
A 2 oo=s

9) Morgan has an investment worth $130,000 dollars after 20 years. If his original

investment was for $50,000 what must the interest rate have been?

T = [ o — Soessd = Fobao

b i
X =23 g
T = §e=oo 5= (25D
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8 . 3 Compound Interest:

/ Future Value
/ nt
A= P(l + 1) Determine the future value of an investment that earns compound
n

interest.

Terminology Tango

Click on the picture to verify the match.

daily, once a year
bi-weeklyw, ", ....-vtwice a year
semi- annually«---" v ~four times a year

weekly™®-... w " ,,..‘twelve times a year
mOnth|y4------ ~.,..0:. 0A26 tlmes a year

quarterly«"" 62 times a year
annually 4365 times a year
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Interest is added to the principal periodically

throughout the year. New interest may be paid on the
principal plus the interest. The interest rate is stated per
annum and is divided by the number of compounding periods.

A:P(1+£)nt [] A - Pj

A = final value of the investment ...(principal + interest)
P = principal

r = annual interest rate

n = number of compounding periods in a year

t = term of the investment or loan in number of years
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EXAMPLE #1: If $1000 is invested at 8 %/a compounded
semi-annually for 2 years, how much will the
investment be worth?

Using the simple interest formula...

I=1000(0.08)(6/12)
= $40 (after 1st interest period)

New principal = 1000 + 40
= $1040

[ =1040(0.08)(6/12)
=$41.60 (after 2nd interest period)

New Principal = 1040 + 41.60
= $1081.60

[=1081.60(0.08)(6/12)
= $43.26 (after 3rd interest period)

New Principal = 1081.60 +43.26

= $1124.86 1666 1+0. 852274
1169, 85856

I =1124.86(0.08)(6/12)
= $44.99 (after 4th interest period)

New Principal = 1124.86 + 44.99
= $1169.85

Compound Interest Formula...

E: P(1+ %)nj

SAME
ANSWER?
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EXAMPLE #2:

Calculate the final value of an initial A= p (1 N Z)
investment of $6000.00. Interest is B n

nt

paid at 4% per annum, compounded 0.04~ P (3)
semi-annually, for three years. A = 6000 (1 + T)

— T —

P = principal

r = annual interest rate

n = number of compounding periods in a year

t = term of the investment or loan in number of years

T-h-p
T-= 6756, 77~ 6000
L ?%56,‘?7

7
-

A = final value of the investment ...(principal + interest)
(L EEEAC1+E, B2 070
2k

BY26. 974516
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EX #3: Maggie invests $30 000 at 10% /a
compounded quarterly for 20 years.

Determine...
a) How much will this investment be worth?

b) How much interest did you earn? Ux 20

) A= 3omo( [+ O;Zo) o267

’)’c
TE0EET 1+8, 1040 b) - Q090

= e
—

218287 . 0345

Al 2§70 [

-
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EXAMPLE #4...

A keen MVHS student wants to save some money from their summer
employment. They decide to take out a Canada Savings Bond which
pays 2.5 % interest per year compounded monthly. If the student
invests $850 into the bond, how much interest will they earn if they
don't touch the money for 3 years?

fl - gﬁo( i o/oﬁ)‘om}

0( ,[B30c1+8.825-12>"
916, 1388521

Ar=—356
-, G5, 13@@52@5

v E: )
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HOMEWORK...

0. 457: #1, 2

p. 468: #2,6,7
Simple Compound
g:P(1+%)nj
n
A =P +Prt

A=P(1 + 1t)
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